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Attempt All Questions

1-a- The shown rectangular plate has dimensions e P = LSkN
18x12cm and thickness 3 cm and is loaded as shown 4 3
It is solved using two constant strain triangular D

elements. Determine the displacements 12 z
and hence determine the resulting strains in element [1]

[Note similarities and differences in the geometry L
to the example problem in your notes] 18cm
[E = 20x10° kN/em?®, v = 0.25]

1-b- The same plate in problem 1-a is solved as a single P=ISKN
isoparametric element as shown. You are required to determine:

A (62>
i- The Jacobian and its inverse tor this element \2
ii. Assuming that the displacements resulting from this

problem are the same as those obtained from 1-a,
determine the strain components at the point A (6,8)cm 1
Compare your answer to that obtained in 1-a and comment on it.

‘8 "

2- Determine the temperature distribution in the rectangular fin shown. The end is insulated and use
two elements only.
[k =3 w/em®C  h=01w/em®C, T, = 20°C, T, = 80°C]
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